AT I

1=
)

System
Products

E%R

Industrial

HEIXATF—2 / 7—7 W14 X 200%X218

Motorized X Linear Stages / Table Size 200xX218

RERA
Experi-
mental

FEEE
AF=
Manual
Stage

XA20F-L2401 XA20F-L2501

[ElEn

Rotation

@ XA20F-L2401 [ZF4E Build to Order|

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY
XeXY

85) 260 200 259
10, 150 10,

4-M5 Depth 10mm 100 ‘ 10-M6 Depth 12mm
& ©&  gnw s oLé — !

=

200
(243)

{5

80

|l

(60)
o
~&

2%
4 .
CCW Limit Sensor / Home Position \/ CW Limit Sensor

#2 .(60) 100 100 200 100 100 59
12-for M8 screws (M10 tapped hole) | |

| |
i( :;f:’\;j}‘l)z Shaft length 13mm _ﬁ‘ $ é' é é #@_‘

Swivel
(Tilt)
734
XUk
ATF—Y
XYe A A : i 3 S
BT S S | E N S——
e 4-for M6 screw
25— Shaft length 13mm

Vacuum @ XA20F-L2501 | ¥4 Build to Order| o ow
Stage S~

[ElEA

Rotation

(15)
125

L

Et) D

g
Back Side \ 920 Depth 17mm

170
200

85) 310 200 309

4-M5 Depth 10mm
Lo e & o= e——a——0-—0—

HIHEE
Control
Electron-
ics

i
-
o
o

‘ 10-M6 Depth 12mm

tT5—-
avhk0-5
Motor
Controller

RS54\
Ry IR
Driver

Box

77U 11
TF—ay 5
Applica- 2] Brr 8
tion %’” / Z\ ° 4*
£y \cow i sensor Home Position\, oW Limit Sensor

8-M5 Depth 10mm
RSA4N 8M6 Depth 12mm 85 85
Motor #21(‘>for M8 screws (M10 tapped hole) (60) ‘ 50 ‘ 100 ‘ 100 ‘ 200 ‘ 100 100 50 59
a Shaft length 13mm A
Driver © E3
IS L R R A s

E=/= - .
T=I I .
Motor aoww,,ﬁoo(

o O|©|
Cable N

\J\_L
183 P $20 Depth 17mm

Appendix Back Side

200
(243)

DT e e ATYavF=IN
1 Option Table

5

| @ 0TX200-K

(60)
.
2
.

8-M4 Depth 8mm  4-M6 Depth 12mm

12.5

(15)

K

170
200

& o @ 3 EN © RO 6-for M6 screws | s ]

Shaft length 8mm
7ot 4for M6 screw 4 et 110

Shaft length 13mm 140
HU— M10 Depth 15mm 160
Accesso- 180

ries s EENSRT—YEBUNIIRIMOABENEBYET, . BANSIT—YERYUNFEREMION Y IREBUET, (=15 200
Through hole for M6 screw mount from upper side. Tapping hole for M10 screw mount from back side.

RE
VAT I
Inspection
System

H-040 ‘ CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



%/ UZTHAK / K—WiY e

System
. . Products
Steel Body / Linear Guide / Ball Screw e
Industrial
B
Model Number XA20F-L2401 XA20F-L2501
BFEOLR =5
Mirror Model Number ~ s S ?ep;r;
F—7)E
Table Size 200mmx218mm —
E RS REV=7 AN o
Guide Mechanism Linear Guide e —
R +200mm +250mm Stage
Motion Range X-XY
EYFHR R—=Ix, J—K 5.0mm XoXY
Lead Mechanism Ball Screw, Lead 5.0mm
TIW/IN=T AF7vT
SR 0 Full/Half Step 10um/5um 5
Resolution ™ | Y4407 7 (1/2058) 0.5um Z
Micro Step (1/20 div) e
RiRE
Maximum Speed 50mm/sec @&
RIEU—RNBE Rotation
Accumulated Lead Error =30um/400mm =40um/500mm
BRUNBEROIEE <
Repeatability =+£0.5um 24~
OANE—3> < (I=#)
Lost Motion =10um Swivel
KT _ _ (Til)
HEE Horizontal s =8um/500mm BEEE
Straightness Eac AF—=
Vertical =6um/400mm =8um/500mm Motorized
3 = Stage
NVIZYa
Backlash =2um X-XY
E—XUNAIE ] _ XeXY
NIETiRET: (Loer) G s %3 0.003arcsec/N-cm (O—JLREE)
KR
Load Capacity (Horizontal) 980N (100kef) z
ME #(GF =T 7IIER) 2
Material Steel (Table: Aluminum Alloy)
R BELES =
Finish Matt Black R@?Et_
BE otation
Weight 39.5kg 44kg
SHATYEVTE—ER— CO087Q-9215P (AU I RIE—R—UHBFREX: ERER 0.75A/M, BEARTYTH 0.72°, U—RIR5XK) .
5 Phase Stepper Motor C087Q-9215P (Oriental Motor (KOHZU exclusive): Phase Current 0.75A, Basic Step Angle 0.72°, 5-Leads) é}‘r—/\z}-l)l
E—2—EE ®8mm #7732 /\VRIL B type Swivel
Motor Shaft Diameter d8mm Conformance option handle: B type (Tilt)
AR Hfz20E> (EO+: RP13A-12RA-20PC) PS5
Connector 20Pin Round (Hirose: RP13A-12RA-20PC) ;(; ~
15‘-’/’%&%&47 %4 V3 Zj—-_:)‘
Stage Wiring Type XYe
RRER BRREROBRIC. 88 (F—2 L) 9 ZFAL TOET, CWRIERHEL. B
Returning direction Returning direction is determined with zone sensor. CW side’s light is intercepted in all time. ;Z:T——‘)‘
Y ERBER Vacuum
S M F-104(LIMIT), F-105(HOME) Stage
J—> 41 yen
P e e XA20F-L2401-C XA20F-L2501-C HlEE
ean Room Lubricant Model Number Control
HZEJ ZERREIN Electron-
Vacuum Lubricant Model Number peznELagly P L0 85
w1 BFRVIDVTIEH-005X—YEBRBLTTL. 5z XAT—VBEOE—X MIEEO—VBIEERY T, ios
) Refer to page H-005 for Information on Standard and Mirror Symmetry ) Moment Stiffness of single X stage is measured in Roll Direction. Motor &
Configuration. wa AT —IREROBHRICDUVTIEN-026~N-027TR—Y&BBLTTF &L, Controller
%4
%0 AT—=VDBREFN-T ATV T TIT>THVET. "~ Refer to page N-026~N-027 for stage wiring connection information. RS
Stage is inspected by half step setting. Ry T2
Driver
o AN ANBIIRABRREEENE LA, BIICOVTIIEA-—VES o WETBE—2—F—TIIZDNTIEN-014~N-01EA—IEBRLTF S Box
BLTTFXE0, Refer to page N-014~N-015 for information on corresponding motor cable. 7Y
Additional parts cost is not included on Overhaul cost. Refer to page 16 for ° XY TOMAFTE THELEORIE. SERETHHOEDETEL J—yay
further information. ) About the XY assembly for thése ;tages, contact us for further infor:nation. ﬁzﬁlica—
7.,U T/7U AEFROBRIIKREIC “-C" PMFEFT., F#MICDULTIXC-005 QAT YV I E—R—HHEEEYET,
N=JEBRLTFEL, 2 phase stepper motor is available Y-
Clean room lubricant model has “-C” at the end of model number. Page C-005 for L. RSN
further information. TR VICDWTIEO-001X=2 2B L TTE, Motor
HZ S RAEOBRERRIC V' SEEET. I ONTIZC-0055— Refer\to page 0-091 for |nformagt|on~?n accessory. Driver
SEBBLTFE. A7 aVNY RILEO0-008X—J &SR L TT XL, ==
Vacuum lubricant model has “V” at the end of model number. Page C-005 for Refer to page 0-008 for information on Option Handle. 7=
further information. o PEROIELICXVHROTEORY ET. L RERHETHAVADETEL. Hhotor
E—Z—SHAOEMIC DN TIEC-004X—H BB LTTFXL, We appreciate the product customizing. Contact us for further information.
° Page C-004 for further information about motor change. Aﬁpﬁendix
MY DE—F—a> rO—F - RFA/NZDWTIEN-002X—=TZ BB L TTF X,
Refer to page N-002 for information on corresponding motor controller and driver.

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp H-041



